YOp 77 NIN3 K822

® -

Intro . .
Today we will Be“H learn 7’op 97 of X902 X121 noomn. S everal amblguous expreSSlonS
Some of the topics we will learn about include: found in documents

The Gemara discusses the meaning of several ambiguous
expressions found in documents, including:
1.

IRD PN nRD ]"('I'(
PIOD P T 1PIVY PYIO PIRT

DYY0 RSN PYRT IR

100 171, which are 20 Y50, or 30 Y50, while 100 o D’”bo ]’nbn ]13’&7 R
actually equal 25 D'v50.
2.

PYRT POT O

TN

Silver o1 that equal...and the next word is erased;

: ! PININ
90>
Silver, or
R277

Gold; 0>
a. RaNT

1337900

Silver dinars,
‘ 903 T

Dinars of silver, or ]’1]’7 "]DD

abianiv!

Silver, in dinars; *']'OD ]’1]’7

5.

Ny

iahiat!

Whether they refer to gold or silver dinar;

6.

I Ao

DIRN 7N

A document that first records a loan of one 7», or 100 17,
and then refers to a loan of 200 1, or the reverse;

7.

oV P PONnn T

If aletter is missing from the lower part of the document, Nnan ﬁ'?l’D'?D
whether we fill it in based on the upper part? DNXRND anbD]
8.

RN IND W

The sum of “600, and a 113;*

PPRT 1POT OO

1590 M PANNN TR

a7h

A woman who miscarries must bring a j27p.
75 poo

The Gemara discusses the procedure for a woman who is ”
unsure whether what she delivered was considered a RO IR NPW
fetus.

' nan n‘ﬁ')

A woman cycles between 1731, days during which her
bleeding renders her a 773, and 72’1 1>, during which she
becomes a 1a1. If she sees for three consecutive days

during 721 >, she must bring a 127p. Nt

)
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So let's review...

We know

Y50 71" I

D77 Y50

A 1 consists of 25 ©»50, and each YY0 contains four
omy7, or 0. Therefore, 100 01 equal 25 YYo.

Zugt di Mishnah

ale)igh)

ARD PN

PIWY PYOO NIRT

Ifa document records a loan of “100 o111, which are 20
owho;

VY ROR I PR

The creditor gets only 20 0y, because we interpret the
document as saying, ®

DO DI DT RN

DYH0 3 ROR PV PRY

100 inferior 0’11, which are worth 20 conventional o'y50; ®

Similarly,

RN PO

D'YY0 RSN PPRT

If the document records a loan of “100 o117, which are 30
nRobloXy

73D ROR D PR

The creditor gets only 100 o117, because we interpret the
document as saying, ®

5P YOO PRSI PPRT ARD DI

DYH0 172 ROR W PRY

100 conventional o1, which are worth 30 inferior oo,
which is the equivalent of 25 conventional o°y>o;

And as the Rashbam explains, in both cases,

nInnnn Y own Ha T

PRI POV IV RO

The creditor gets the lower amount, unless he proves that
it's the higher amount, because he is the one trying to
extract payment from the borrower.

DafHachaim.org

' ple) N
DODT T D'D5D N>
A pbp contains A nip consists

fourom»1 - orpmt of 25 DwdD

100 _ 25
o)y DYWYo

YN

2232
MY PPOD IR - IR P
If a document records a loan of
“100 pnit, which are 20 pv5p;”

MY KON 1D PN
The creditor gets only 20 DwbD,
because we intenpret the document ay saying,
DYIPOM DIV O DHN
OWOD ’> HOH MIE HE
100 Ln%em/r P55
which are worth 20 comvenitional piylo;

NN N
2'Y50 1PN PN
If the document records a loan of
“100 D1, which are 30 DwbD,”

M NON 9 PN

The creditor gets only 100 D11,

because we L'm‘er/zref the docwment MW
DD DWOD PHOD NH7 DHY Ot
DWOD 0”75 HH ME PE
200 conventional P55, which are worth 30 Mz%@n'or o,
which iy the W@&m‘ 0% 25 comventional pylo;
\ 4
In both cases,
ONPNHO DY HVED Y3 7
DD 1OV 13NN HIINHD
The creditor gety the lower amount,
wnlessy he provey that ity the higher amount,
because he s the one er ty @a‘mof/awm
ﬂan«u the borrower.
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. The Mishnah continues:
PPRT PIT90I....
Prinn O I'I)"ﬂ'l I"ﬁ? I]D:
DNWN MO PR
If the document reads, “Silver o'vt which equal...“ and the Pnnn
next word, which is the amount, is erased, the creditor ﬂ’nwn ﬂ'lnb i’N

collects Only two o1, the minimum amount indicated by Ifthe document reads “Sllver DT Wthh equal”
and the next word, which is the amount, is erased,
the creditor collects only two pinr,

the plural word o°m written in the document.
Similarly,
PPRT oYY qo....

PR the minimum amount indicated by the plural word
DY MO PR DT,
If the document reads, “Silver @50 which equal...“ and
the amount is erased, he collects only two o°v5o. Semilar Z?/, _SWM(Z/[?/,
Similarly, MNSns 0'yo0 e
PPRT NI ...
oy C DN N
DNWR MO PR
If the document reads, “Silver mn>77 which equal...“ and Pnnn Pnnn
the amount is erased, he collects only two nino77. mplalistalalinf) TSR Qs "ind IHN
If the document reads, Ifthe document reads,
“Silver mn>17 which “Silver mpbp which equal..”
equal..” and the amount is erased,
and the amount is erased,  he collects only two Dwbp.
. he collects only two
NIDIT.
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The Gemara cites a related X092 which points out some
distinctions between various terms used in a JOw:

1.

902 IR

903 T MND PR

If the document says “silver,” singular;

He gets at least one silver dinar.

P07 900

902 N

GO PIPTIOR TINO PR

Ifit says, “silver dinars," or “dinars of silver,” plural;
He gets at least two silver dinars.

2.

171903

903,277 PIPT WAL MND PR

If it says, “silver, in dinars;"

It means two gold dinars worth of silver.

Similarly, another Xxn»72 rules

PIT2377

277,90 PIPT IV MNO PR

If it says, “gold, in dinars;"

It means two silver dinars worth of gold.

And the Gemara explains the difference:

171903

Q02,177 PIT IWIAN NIN9 PR

Because

() Laguigie)

He used the term 3173, which refers to gold dinars.

Therefore, it means, silver in the value of two gold dinars.

However,

P72 30T

277,902 PIAPT 1IN NNS PR

Because

1337200

He used the term 1917, which refers to silver dinars.

Therefore, it means, gold in the value of two silver dinars.

And the Gemara cites a Mishnah in mA7v that illustrates
this distinction between the terms 37 and 727,

DafHachaim.org

k/)//)p

Some distinctions between various terms used in a ow

1

70> MR
70> 9 TH MND PR

Ifthe document says “silver,” singular;
He gets at least one silver dinar.

D> 17°7 - 11T 0D
D> 1°72°7 22WN MND PR

Ifit says, “silver dinars,” or “dinars of silver,” plural;
He gets at least two silver dinars.

2

721772 70>
D> ,207T 17T 22WaN MND PR
Ifit says, “silver, in dinars;”
It means two gold dinars worth of silver.

_Smw&zr%/, andther Lpmp rules
P72 20T

207,502 1°72°T 21wan MnNd PR
Ifit says, “gold, in dinars;”
It means two silver dinars worth of gold.

1’9272 2NT
MWD MND PR 22WIAN MND PN
207,500 PIrT 0D ,anT PIPT

Because Because
PI2T 2ND MOT 2ND
He used the term T, He used the term "> 12,
which refers to silver dinars. which refers to gold dinars.

Therefore, it means, gold in Therefore, it means, silver in
the value of two silver dinars.  the value of two gold dinars.

71°72 70>

And the Gemara cites a Mishnah in nnnp
that illustrates this distinction between the terms
NIT and PINT.
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The Gemara continues to explain our Mishnah:

MM oRariloploRilign)

DIIRD TONH

OR

D NRD TOYEHN

1 o

If the document first records a loan of one man, which is
100 11, and then refers to a loan of 200 117, or the reverse;
POANT IR 397 590

We follow the second term.

And the Mishnah asks

POPA DR PamD vk 'R

If so, what is the purpose of mentioning the amount in the
beginning of the document?

The Mishnah answers;

PONDA P DR MR PoN DRY

oo Ty

If a letter is erased from the lower word, we learn this
information from the upper word.

The Gemara cites a related Xn»92:

oY P PN T

DOR MR

NPMR NI RS HIR

If a letter is missing from the lower word of the document,
we can fill it in based on the upper word. However, if two
letters are missing, we cannot fill them in based the upper
word.

For example,

M0 IR0

IV ]IV

If the name in the lower part reads 131 or 13v, we assume it
to be the same name as in the upper part, *1377 or °11p, but the
7010 omitted the last letter. However, if the name in the
lower part reads in or 1, we do not assume it to be the
same name as in the upper part, *317 or "1, but rather a
retraction that the loan was from i1 or 1v, not from 1 or
1Y, and, ®

PN 2IN0W 12 32 MWW 15 0n 1N

He must pay the person named in the lower part.

DafHachaim.org

YN

DN FOPROE M mhpahE 1 oINS
M3t manbmy DN MR

If the document first records a loan of one nap,
which is 10011,

and then refers to a loan of 200 11, or
the reverse;

NARNA R 79N 5o
We follow the second term.
The Mishnahy ashy
MOPIT AN PPamD b o8

If so, what is the purpose of mentioning the amount
in the beginning of the document?

The Mishnah answers;;
NAMAT 1 DN IR pran o8y
MOPT 113 A%

k/)”)’)

MOYN P PNNNN T
NNXR MX2
NPMR 'NWa XY Har

If aletter is missing from the lower word of the document,
we can fill it in based on the upper word.
However, if two letters are missing,
we cannot fill them in based the upper word.

7or example,
22101 110 PAd
200 1IN

Ifthe name in the lower part reads >n or 2p,

we assume it to be the same name as in the upper part, »20n

ornap, but the @b omitted the last letter.

However, if the name in the lower part reads

MNorldy
we do not assume it is the same name as in the upper part,
222N or 222y
but rather a retraction that the loan was from >n or i,
not from»in or.

NHNHN3 32 WD 90 MEE WS NHND 1HM
He W/m?/ r‘/w/bemonx named in the lbwerpm‘.
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The Gemara explains that the reason for

MR DWW RS YIrR

Is not because

DPOIR DAIR 2DV DIND ST

RPOWT 159 7Y i

In a case of a name of four letters, we do not assume the
scribe to have omitted half a name, such as two out of four
letters;

Because if so

MIDNNR IR

DYIMR DY 12 0V DD RPOT

In a case of a name of two letters, we should not fill in
even one letter because we do not assume the scribe to
have omitted half a name, even one out of two letters?

Rather, we are concerned

DYIR WHW 12 0w »In RST

RPWT X175 M

In a case of a name of three letters, we cannot fill in two
out of three letters, because we do not assume the scribe to
have omitted 2/3 of the name.

RO5 27 rules

moYHR Yoo

Ton5m oM

POANA IR 7917550

If the upper word reads 500, referring to a jug, and the
lower word reads 5o, referring to a cloak - or any other
two items of similar wording - we follow the lower word.

However, 05 27 inquired

oemOn Hop

ielepislriatel

If the upper word reads 5op, and the lower word reads 500,
1> PV

N2 IR

Do we try to reconcile the two terms and assume that a fly
landed on the letter ' in the lower word and transformed
itinto a ©, and so we would follow the upper word, or not?

N
The Gemara leaves this matter unresolved.

DafHachaim.org

A
The reason for
NPYMR "NWa XY Yar
i nat because
DNPNIN DIIN |2 DY WIND RDDT
NDWT Mabo mb mm

In a case of a name of four letters,
we do not assume the scribe to have omitted half a name,
such as two out of four letters;

Because %Jo
DI HNN NIN
DPNIR NY )2 DY I RDT
In a case of a name of two letters,
we should not fill in even one letter because we do not

assume the scribe to have omitted half a name,
even one out of two letters?

Ruther, we are concerned
DPNIN WOW )2 DY WIIPD RDOT
NPWT RN MD M)

In a case of a name of three letters,
we cannot fill in two out of three letters,
because we do not assume the scribe to have omitted
2/3 of the name.

£O0 P
nYYNHN HDO
nLVNON HoM

PANNN MR 9N YoN

If the upper word reads bop, referring to a jug,
and the lower word reads 5o, referring to a cloak
we follow the lower word.

P4

nYYNLN Hop
NVNHN HHO)
Ifthe upper word reads bop,
and the lower word reads 5op,
R R - 2121 P1PW1N M
Do we try to reconcile the two terms
and assume that a fly landed on the letter p' in the lower word

and transformed it into a " O,
and so we would follow the upper word, or not?

S

N
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The Gemara discusses another ambiguous document:
2202 M7 RN

RN IRD W

A document referred to the sum of “600, and a 17;*
What is the 600 referring to?

»axruled

R 0O AIRD W

RIOW2 ANd RS

It cannot refer to 600 Mo, plus one 113, because they
would not write it this way. Rather,

5 1901 72IORT

MRS )

They would convert the mv1io into oi;
Additionally, we do not read it as

RN PNONR RN MW

600 RINO'N, or Y50, each of which contains four 111, because
nInnnn by Town Ha T

The creditor bears the burden of proving that the
document refers to larger coins.

Therefore, the Rashbam explains,

Sapm

He receives 601 0.

DafHachaim.org

172 210 MNT RINN
RTIT RN N

A document referred to the sum of “600, and anr;”
What is the 600 referring to?

v

"
NTIT) DD NND DY
NIDW22ND Nb

It cannot refer to 600 MmNy, plus oner,
because they would not write it this way.

M7 IND MWD IND ]2DPY 1DIDNT

They would convert the mvno into pnr;

/f&//&f&om@, we dy not read it abs
NTIT) D NDN NN DY

600 NINDN, or v5D, each of which contains four mr,
because

nAnNNN by wwn bva 1
The creditor bears the burden of proving that the
document refers to larger coins.

v
W%ﬁ@,
222 T
He receives 601 p/5y5s.
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